20145 E PRTRELH =

| {62 ¥ B HkE B8R D ER Y #E J»

BENRMBEDOE HHE L IIERENBEEN 001t UEDWEIC DN SHREVLET,

(st %)
E—T R =La=yo3
gg mE & W B b E BEEzty) B b E =)
AR | X EL IS XK= | KE EL UL
4 | PouVBRUZ DRSNS 002 | 000 | 026 | 000 | 000 000
20 | 2-7z/18/-1 000 | 000 | 005 | 000 | 000 000
28 | 7ULFILa—IL 000 | 000 | 000 | 000 | 000 | 11000
29 | 1—7UNAFY -2, 3-TAFSTONY 000 | 000 | 000 | 000 | 000 | 6600
0 | o Romsm oh s coboRg cogamars | 000 | 007 | 011 | 000 | 000 | 000
31 | FUFEVROZOAN 000 | 000 | 001 | 000 | 000 000
53 | TFLAVEY 002 | 000 | 000 | 000 | 000 000
56 | TFLVAFIR 039 | 000 | 000 | 032 | 000 19.00
60 | TFLVITEmmE 000 | 002 | o004 | 000 | 000 000
65 | TEronEryY 000 | 000 | 000 | 000 | 000 470
66 | 1,2-TRFITHY 000 | 000 | o000 | 003 | 000 028
68 | 1,2— TR+ 70/ (Bl% B7OCLY) 730 | 000 | 000 | 036 | 000 3.90
80 | L 002 | 000 | 000 | 000 | 000 000
123 | kUL 000 | 000 | 000 | 000 | 000 064
128 | 400A%Y Bl HEIEATIV) 055 | 000 | 000 | 000 | 000 000
150 | 1,4— DA 000 | 000 | 042 | 000 | 000 000
157 | 1,2-vonaTay 000 | 000 | 000 | 000 | 000 026
255 | FHTOEITToNI—FIL 000 | 000 | 004 | 000 | 000 000
256 | Fhom 000 | 000 | 006 | 000 | 000 000
257 | Fh/—1 000 | 000 | 002 | 000 | 000 | 3300
272 | oACEtEE GERER ) 000 | 000 | 120 | 000 | 000 000
273 | JWRIV—EFIILPILa—I 000 | 000 | 000 | 000 | 000 075
292 | FUTFLTEY 000 | 000 | 032 | 000 | 000 000
208 | FULYIAVITR—F 000 | 000 | 011 | 000 | 000 000
300 | bbT> 3533 | 000 | o000 | 000 | 000 000
302 | 7Ly 000 | 000 | 002 | 000 | 000 000
320 | /=T — 1L 000 | 000 | o000 | 000 | 000 | 3200
349 | 71— 000 | 000 | 000 | 000 | 000 | 3800
359 | JIWRI—TFI—2,3—TAFZTOCNT—FIL 000 | 000 | o000 | 000 | 000 040
367 | A —thYEU—TFIV T/ — L 000 | 000 | 000 | 000 | 000 002
302 | JILRIV—~FY 000 | 000 | 000 | 000 | 000 11.00
308 | AVUIL=20U K GIBIRIEAYIIL) 000 | 000 | 024 | 000 | 000 000
KU (A TFL)=7 =

o | e o vy | 089 || G2 -4 ngy |- Gey Y
408 | KU FFSIFLY) =A0FIVTTZVI—FIL 000 | 000 | 010 | 000 | 000 1,50
410 | K EFSIFLY)=/ZVTTZVI—F IV 000 | 000 | 033 | 000 | 000 10.00
438 | *FILFTELY 000 | 000 | 005 | 000 | 000 000
il [ ————— 00T 1 002 | 003 | 000 ) 000 001
= B 4364 | 039 | 495 | 071 | 000 | 34026




